_A-COO-59775-682dfbd0a5076 / May 21, 2025



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-59775-682dfbd0a5076 **VERIFY.FTGS.US** Date: May 21, 2025

Port of Loading Transport Type Seller (Exporter) Air Los Angeles Medtron Technology 10266 Foothill Boulevard **Destination Country Destination Port** Lake View Terrace Vietnam Ho Chi Minh City CA USA Exporting Carrier **Export Date** Consignee Minh Long Tech Import Permit Number Bill of Lading / AWB No. 9, Street No. 15 Him Lam Residence, Area 4, Binh Hung Ward, Binh Chanh **Forwarding Agent** Owner or Agent Ho Chi Minh City, 70000 Vietnam

Remarks

Buyer (Importer)

Minh Long Tech No. 9, Street No. 15

Him Lam Residence, Area 4 Binh Hung Ward, Binh Chanh

Ho Chi Minh City, 70000, Vietnam

Vietnam

Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
sertion Tube, 9.3mm w/ Fitting	0.4 lb	United States
.S.Code: 9033.00.0000 Marks: IT-093-1120T-FF		
sertion Tube, 9.8mm w/ Fitting	0.2 lb	United States
.S.Code: 9033.00.0000 Marks: IT-098-1070T-FF ght Guide Cord, 12.8mm		
ght Guide Cord, 12.8mm	0.75 lb	United States
.S.Code: 9033.00.0000 Marks: UC-128-1400-F		
sertion Tube, 12.0mm	0.5 lb	United States
S.Code: 9033.00.0000 Marks: IT-120-1680T-F = 0 F 0 R G N		
sertion Tube, 9.3mm Accredited Chamber US2100201	0.4 lb	United States
.S.Code: 9033.00.0000 Marks: IT-093-1120T-F		
sertion Tube, 9.8mm	0.4 lb	United States
.S.Code: 9033.00.0000 Marks: IT-098-1070T-F		DAY AND A
sertion Tube, 9.4mm	0.4 lb	United States
.S.Code: 9033.00.0000 Marks: IT-094-1090T-F		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-59775-682dfbd0a5076 **VERIFY.FTGS.US** Date: May 21, 2025

Seller (Exporter) Medtron Technology 10266 Foothill Boulevard	Transport Type Air	Port of Loading Los Angeles
Lake View Terrace CA USA	Destination Country Vietnam	Destination Port Ho Chi Minh City
Consignee	Export Date ************************************	Exporting Carrier **********************************
Minh Long Tech No. 9, Street No. 15 Him Lam Residence, Area 4, Binh Hung Ward, Binh Chanh District Ho Chi Minh City, 70000 Vietnam	Import Permit Number	Bill of Lading / AWB ************************************
	Owner or Agent	Forwarding Agent ************************************

Remarks

Buyer (Importer)

Minh Long Tech

No. 9, Street No. 15

Him Lam Residence, Area 4 Binh Hung Ward, Binh Chanh

Ho Chi Minh City, 70000, Vietnam



Country of Origin

Vietnam		
Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of (
Bending Section, Fujinon EG-720R	0.2 lb	United States
H.S.Code: 7304.11.0000 Marks: BS-EG-720R-F		
Coil Pipe Assembly for Fujinon EG-760R	0.2 lb	United States
H.S.Code: 7304.11.0000 Marks: CPA-EG-760R-F		
Light Bundle, Fujinon, EC-600WM	1.5 lb	United States
H.S.Code: 9001.10.00 Marks: LB-EC-600WM-F		
Coil Pipe Assembly for Fujinon EG-600WR	0.1 lb	United States

H.S.Code: 7304.11.0000 Marks: CPA-EG-600WR-F

H.S.Code: 9001.10.00 Marks: LB-EC-600WI-F

Bending Rubber - 9.5mm

H.S.Code: 3901.10 Marks: BR-095-0890

Bending Rubber - 9.8mm

H.S.Code: 3901.10 Marks: BR-098-0910 AMBERS

ited States ited States Light Bundle, Fujinon, EC-600WI coredited Chamber US2100201 0.75 lb **United States United States** 0.5 lb 0.5 lb **United States**



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Los Angeles Area Chamber of

Commerce ("LAACC") is accurate, true and complete.

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-59775-682dfbd0a5076

VERIFY.FTGS.US Date: May 21, 2025

Port of Loading Transport Type Seller (Exporter) Los Angeles Medtron Technology 10266 Foothill Boulevard **Destination Country Destination Port** Lake View Terrace Vietnam Ho Chi Minh City CA USA Exporting Carrier **Export Date** Consignee Minh Long Tech Import Permit Number Bill of Lading / AWB No. 9, Street No. 15 Him Lam Residence, Area 4, Binh Hung Ward, Binh Chanh **Forwarding Agent** Owner or Agent Ho Chi Minh City, 70000 Vietnam

Remarks

Buyer (Importer)

Minh Long Tech

No. 9, Street No. 15

Him Lam Residence, Area 4 Binh Hung Ward, Binh Chanh

Ho Chi Minh City, 70000, Vietnam



Country of Origin

vietnam			
Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of	
Bending Rubber - 12.2mm	0.5 lb	United States	
H.S.Code: 3901.10 Marks: BR-122-0125			
Bending Rubber - 11.8mm	0.5 lb	United States	
H.S.Code: 3901.10 Marks: BR-118-1090			
Bending Rubber - 9.2mm	0.5 lb	United States	
H.S.Code: 3901.10 Marks: BR-092-1300-B			
Insertion Tube, 12.8mm	0.5 lb	United States	
H.S.Code: 9033.00.0000 Marks: IT-128-1600T-F	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		



=====end of products=======

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



Invoice

Date	Invoice #	
5/9/2025	4643	

Bill To

Minh Long Tech No. 9, Street No. 15 Him Lam Residence,Area 4 Binh Hung Ward,Binh Chanh District Ho Chi Minh City, 70000, Vietnam Ship To

Minh Long Tech No. 9, Street No. 15 Him Lam Residence,Area 4 Binh Hung Ward,Binh Chanh District Ho Chi Minh City, 70000, Vietnam

P.O. No.	Terms	INCOTERM	Ship Date	Ship Via	AWB
050925	100% Pre-Payment	EXWORKS	5/22/2025	CustomerLabel	881346684509

Item	Description	Qty	Rate	Amount
IT-093-1120T-FF	Insertion Tube, Ø9.3mm, 1120mm, Gastroscope with Fitting, Fujinon PREMIUM	2	319.44	638.88
IT-098-1070T-FF	Insertion Tube, Ø9.8mm, 1070mm, Gastroscope with Fitting, Fujinon, PREMIUM	1	319.44	319.44
UC-128-1400-F	Light Guide Cord, Ø12.8mm, 1400mm Fujinon	3	111.32	333.96
IT-120-1680T-F	Insertion Tube, Ø12.0mm, 1680mm, Colono, Fujinon, PREMIUM	2	285.56	571.12
IT-128-1600T-F	Insertion Tube, Ø12.8mm, 1600mm, Colono, Fujinon, PREMIUM	2	285.56	571.12
IT-093-1120T-F	Insertion Tube, Ø9.3mm, 1120mm, Gastroscope, Fujinon PREMIUM	2	222.64	445.28
IT-098-1070T-F	Insertion Tube, Ø9.8mm, 1070mm, Gastroscope, Fujinon, PREMIUM	2 2	222.64	445.28
IT-094-1090T-F	Insertion Tube, Ø9.4mm, 1090mm, Gastroscope, Fujinon, PREMIUM		222.64	445.28
BS-EG-720R-F	Bending Section, Fujinon EG-720R	2	359.10	718.20
CPA-EG-760R-F	Coil Pipe Assembly for Fujinon EG-760R	1	148.50	148.50
LB-EC-600WM-F	Light Bundle, Fujinon, EC-600WM	5	138.60	693.00
CPA-EG-600WR-F	Coil Pipe Assembly for Fujinon EG-600WR	1	148.50	148.50
LB-EC-600WI-F	Light Bundle, Fujinon, EC-600WI	3	146.03	438.09
BR-095-0890	Bending Rubber - 9.5mm	5	11.78	58.90
BR-098-0910	Bending Rubber - 9.8mm	5	11.78	58.90
BR-122-0125	Bending Rubber - 12.2mm	5	11.78	58.90
BR-118-1090	Bending Rubber - 11.8mm	5	11.78	58.90
BR-092-1300-B	Bending Rubber, Ø9.2mm OD	5	11.78	58.90

Total

USD 6211.15

Payments/Credits USD -6211.15

Balance Due

USD 0.00

